is being sought in appointments to universities.
There is an element of urgency since statistics
indicate that all universities need and will increas-
ingly need enlarged staffs to meet expanding enrol-
ments. This situation presents universities and col-
leges in the Atlantic region with problems of a some-
what different sort than in other parts.of Canada,

A century apo, regional and religious factors
had led to the establishment of many small univer-
sities throughont the area, a development that had
seemed, even as late as 1945, backward and dis-
advantageous. However, under the impulse of ex-
panding enrolment, new colleges are springing up
everywhere on the continent and the colleges scat-
tered over the Atlantic Provinces are beginning
tp reach a viable level for undergraduate teach-
ing. Enmlments now range from about 300 to about
3,000. Two universities have enmlments exceed-
ing 2,000 and four are close to 1,400, a figure that
has been suggested as an economical one for a
liberal-arts college.

- were as follows: departmental - services,

(C.W.B. March 13, 1963)

PROVINCIAL EMPLOYMENT

Employees of - eight  provincial governments
and the govemments of the Yukon and Northwest
Territories eamed $179,219, 000 in the period October-
December 1962, down 2.1 per cent from the July-
September 1962 total of $183,035,000. This brought
staff earnings for the year 1962 to $693,444,000,
an increase of 6.7 per cent over the previous year’s
total of $650,140,000. Data for Quebec and British
Columbia were not available.

At December 31, 1962, employees numbered
172,469, a decrease of 6.1 per cent from the Septem-
ber 30 figure of 183,752. This was due mainly to
seasonal declines in the transportation-and-communi-
cations (hi ghways) and natural-resources functions.

The' earnings of ‘employees for the year 1962
$400,-
851,000 or 357.8 per cent; institutions of higher
education, $77,899,000 or 11.2 per cent; enterprises,
$205,875,000 or 29.7 per cent; and workmen’s com-
pensation boards, $8,819,000 or 1.3 per cent.
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